TERM TEST MARCH 2001

ANSWERS

PART 1:  MULTIPLE CHOICE
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PART 2.  PROBLEM

A.
THE INSURANCE DECISION

1. PV = $55,000

2. PV = $47,679.89  (P = $3,700 x 15.58916) Table is PV of an ordinary annunity.

Complete time line required (include rents, interest and number of interest periods.  Time line begins at time = 0 and first rent is at time = 1.

3. PV = $58,595,51  (P = [$20,000 + ($1,500 x 25.73034)  Table is PV of annunity due.

Choose highest PV.  (alternative #3)

B.
HOW MUCH TO BE DEPOSITED NOW FOR LATER WITHDRAWALS OF $1,000 PER YEAR.

Complete time line required including interest, n, y, rents at appropriate time periods.

PV = $2,737.66  [$1,000 x (7.60608 – 4.85842)]  Table for both factors is PV of an ordinary annuity.

OR

P = [$1,000 x (5.33493 x .41316)]  Tables are PV of an ordinary annuity and PV of a single sum.

PART 3.  CASE

Overview

Company:
Public company because



Transport company



Own their vehicles (vs leasing)



Unionized



Boss needs bonus

Users:

Mgmt (A)



Creditors (C)



Investors (A, C)

Constraints:
GAAP – being audited

FRO:



Issues:

1.
Strike



Ext Item:  GAAP:  mgmt decision not involved





     Material

 



     Infrequent




   
     Not part of regular ops



Does not qualify:   Strikes are a risk, especially in a unionized environment





      Management may have been able to avoid it



Alternative:  
Unusual Item  GAAP same as above except management does make this decision.  Does it qualify?  No because a strike is a risk of a unionized organization.



Alternative:
Regular expense

(ONLY COSTS OF THE STRIKE, EG, NEGOTIATORS FEES, MEDIATORS FEES, ARBITRATORS FEES, LODGINGS, TRANSPORTATION, MEALS, INCIDENTALS – THESE CAN BE SIGNIFICANT)

RECOMMENDATION:  

2. Subsequent Event/ Contingent Liability

Subsequent event – an event occurring after year end.  Type 1 arelates to an event occurring before the year end; Type 2 does not relate to anything in previous accounting periods.

Contingent liability 


GAAP


Amount known, likely to occur – must accrue


If one of above is unknown, must note disclose unless it is unlikely to happen.




The law suit occurred this year.  It is a type I – it relates to a firing last year.



Alternatives – none – must accure.  Amount estimable, feeling is that they will lose

3. Change in estimate

Requires prospective treatment. Should disclose in notes.

MANAGEMENT INTENT IS IMPORTANT HERE – THAT IS, WILL THEY KEEP THE TRUCKS FOR LONGER THAN 5 YEARS.  IF NOT, NO CHANGE CAN BE MADE.

RECOMMENDATION:

